
4
0

20

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P7

V
A

R

1
5
 
N

1
 
c
/
1
2

15 N2 ø5.0  C=30

peso específico > 1600.00 kgf/m³

Solo compactado sobre a sapata

1
2
0

120

4
0

20

V
A

R

1
8
0
(
+

/
-
3
5
)

1
5

3
5

5

ESC 1:25

PLANTA

S7

ESC 1:25

CORTE

6
 
N

9
 
ø

1
0
.
0
 
 
C

=
V

A
R

20

V
A

R

15 N1 ø5.0  C=112

15

35

N2

8 N10 ø10.0 c/16  C=127

9
114

9

7
 
N

1
0
 
ø

1
0
.
0
 
c
/
1
7
 
 
C

=
1
2
7

9
1
1
4

9

4
0

30

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P4

V
A

R

1
2
 
N

3
 
c
/
1
5

peso específico > 1600.00 kgf/m³

Solo compactado sobre a sapata

1
6
0

160

4
0

30

V
A

R

1
8
0
(
+

/
-
3
5
)

1
5

4
5

5

ESC 1:25

PLANTA

S4

ESC 1:25

CORTE

4
 
N

1
5
 
ø

1
2
.
5
 
 
C

=
V

A
R

20

V
A

R

12 N3 ø5.0  C=132

25

35

16 N11 ø10.0 c/10  C=167

9
154

9

1
6
 
N

1
1
 
ø

1
0
.
0
 
c
/
1
0
 
 
C

=
1
6
7

9

1
5
4

9

4
0

30

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P3

V
A

R

1
0
 
N

3
 
c
/
1
5

peso específico > 1600.00 kgf/m³

Solo compactado sobre a sapata

1
6
0

160

4
0

30

V
A

R

1
5
0
(
+

/
-
3
5
)

1
5

4
5

5

ESC 1:25

PLANTA

S3

ESC 1:25

CORTE

4
 
N

1
6
 
ø

1
2
.
5
 
 
C

=
V

A
R

20

V
A

R

10 N3 ø5.0  C=132

25

35

16 N11 ø10.0 c/10  C=167

9

154

9

1
6
 
N

1
1
 
ø

1
0
.
0
 
c
/
1
0
 
 
C

=
1
6
7

9

1
5
4

9

5
0

20

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P8

V
A

R

1
0
 
N

4
 
c
/
1
9

10 N5 ø5.0  C=30

peso específico > 1600.00 kgf/m³

Solo compactado sobre a sapata

1
7
0

170

5
0

20

V
A

R

1
8
0
(
+

/
-
3
5
)

2
0

5
0

5

ESC 1:25

PLANTA

S8

ESC 1:25

CORTE

6
 
N

1
9
 
ø

1
6
.
0
 
 
C

=
V

A
R

20

V
A

R
7
0

10 N4 ø5.0  C=132

15

45

N5

21 N12 ø10.0 c/8  C=187

14

164

14

2
1
 
N

1
2
 
ø

1
0
.
0
 
c
/
8
 
 
C

=
1
8
7

1
4

1
6
4

1
4

4
0

20

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P5

V
A

R

1
2
 
N

1
 
c
/
1
5

12 N6 ø5.0  C=30

peso específico > 1600.00 kgf/m³

Solo compactado sobre a sapata

1
9
0

170

4
0

20

V
A

R

1
8
0
(
+

/
-
3
5
)

6
0

1
0
0

5

ESC 1:25

PLANTA

S5

ESC 1:25

CORTE

6
 
N

1
7
 
ø

1
2
.
5
 
 
C

=
V

A
R

164

V
A

R
5
5

12 N1 ø5.0  C=112

15

35

N6

31 N13 ø10.0 c/6  C=267

54

164

54

2
8
 
N

1
4
 
ø

1
0
.
0
 
c
/
6
 
 
C

=
2
8
7

5
4

1
8
4

5
4

5
0

20

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P11

V
A

R

1
2
 
N

4
 
c
/
1
5

12 N6 ø5.0  C=30

peso específico > 1600.00 kgf/m³

Solo compactado sobre a sapata

2
2
0

220

5
0

20

V
A

R

1
8
0
(
+

/
-
3
5
)

2
5

7
0

5

ESC 1:25

PLANTA

S11

ESC 1:25

CORTE

6
 
N

1
5
 
ø

1
2
.
5
 
 
C

=
V

A
R

20

V
A

R

12 N4 ø5.0  C=132

15

45

N6

31 N18 ø12.5 c/7  C=246

19

214

19

3
1
 
N

1
8
 
ø

1
2
.
5
 
c
/
7
 
 
C

=
2
4
6

1
9

2
1
4

1
9

5
0

30

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P10

V
A

R

1
0
 
N

7
 
c
/
1
9

10 N8 ø5.0  C=40

5
0

30

ESC 1:20

5

VAR

TERREO - L1

E
S

C
 
1
:
2
5

P9

V
A

R

1
0
 
N

7
 
c
/
1
9

10 N8 ø5.0  C=40

peso específico > 1600.00 kgf/m³

Solo compactado sobre a sapata

2
2
0

220

5
0

30

V
A

R

1
8
0
(
+

/
-
3
5
)

2
5

6
5

5

ESC 1:25

PLANTA

S9=S10

ESC 1:25

CORTE

1
0
 
N

1
9
 
ø

1
6
.
0
 
 
C

=
V

A
R

20

V
A

R
7
0

10 N7 ø5.0  C=152

25

45

N8

8
 
N

1
9
 
ø

1
6
.
0
 
 
C

=
V

A
R

20

V
A

R
7
0

10 N7 ø5.0  C=152

25

45

N8

2x31 N18 ø12.5 c/7  C=246

19

214

19

2
x
2
7
 
N

1
8
 
ø

1
2
.
5
 
c
/
8
 
 
C

=
2
4
6

1
9

2
1
4

1
9

Relação do aço

S3 S4 S5

S7 S8 S10

S11

AÇO N DIAM

(mm)

QUANT

(Barras)

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 27 112 3024

2 5.0 15 30 450

3 5.0 22 132 2904

4 5.0 22 132 2904

5 5.0 10 30 300

6 5.0 24 30 720

7 5.0 20 152 3040

8 5.0 20 40 800

CA50 9 10.0 6 VAR VAR

10 10.0 15 127 1905

11 10.0 64 167 10688

12 10.0 42 187 7854

13 10.0 31 267 8277

14 10.0 28 287 8036

15 12.5 10 VAR VAR

16 12.5 4 VAR VAR

17 12.5 6 VAR VAR

18 12.5 178 246 43788

19 16.0 24 VAR VAR

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

12.5

16.0

5.0

379.3

487.6

63.9

141.5

257.2

516.7

110.8

24

PESO TOTAL

(kg)

CA50

CA60

884.8

24

Volume de concreto (C-20) = 12.75 m³

Área de forma = 35.42 m²


